Flowchart for Confidence Intervals and Hypothesis Testing

(Scott Stevens)

Note :  The nonrejection regions assume a two tailed test (null hypothesis is equality).
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( �  eq \s\do2(\f(,x))�  = �  eq \s\do2(\f((,�  eq \r(n)�))�


CI = �  eq \o(\s\up8(\d\fo2()(),x)� + z*( �  eq \s\do2(\f(,x))�


NRR =( + z*( �  eq \s\do2(\f(,x))�


Sample z = �  eq \s\do2(\f(�  eq \o(\s\up7(\d\fo2()((),x)�- (,( �  eq \s\do2(\f(,x))�))�





(p  = �  eq \r(�  eq \s\do2(\f(p(1-p),n))�)�


CI = p + z*( p  











( �  eq \s\do2(\f(,x))�  = �  eq \s\do2(\f(s,�  eq \r(n)�))�


CI = �  eq \o(\s\up8(\d\fo2()(),x)� + t*( �  eq \s\do2(\f(,x))�


NRR =( + t*( �  eq \s\do2(\f(,x))�


Sample t = �  eq \s\do2(\f(�  eq \o(\s\up7(\d\fo2()((),x)�- (,( �  eq \s\do2(\f(,x))�))�








(p  = �  eq \r(�  eq \s\do2(\f(π(1-π),n)�  �)�)�


NRR= π + z*( p  


Sample z = �  eq \s\do2(\f(p – π,σp))�








Sample z = �  eq \s\do2(\f(ps – p,(ps))�
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(nπ and n(1-π) > 5 ?)
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